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PLACE VALUE - CALCULATOR WORK

For each of the following you are only allowed to carry out one operation - this
means type in the original number, then type in a sign, a number of your choice
and the equals sign - once only!

1. Change 5346 to 6346

2. Change 7781 to 7681

3. Change 8000 to 7700

4. Change 5645 to 5655

S. Change 2100 to 6100

Work out the following:

6. Which is more: 15 tens or 2 hundreds?

7. Which is more: 1 thousand or 12 hundreds?
8. Which is less: 4 hundred or 41 tens?

9. Which is more: 2 thousand or 22 hundreds?

10. Which i1s less: 6 thousands or 58 hundreds?

Make the BIGGEST whole number that you can from the following digits. Write
the number down. Then make the SMALLEST possible whole number. Take the
smallest from the largest, using a calculator.

11. 4, 7, 8, 6
12. 9, 0, 4, 2
13. 5, 3, 1, 4
14. 6, 7, 6, 7

15s. 9, 0, 9, O
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1. 5346 +1 000 =6 346
2. 7781-100 = 7681

3. 8000-300=7700
4. 5645 +10=5655

5. 2100 +4 000 =6 100
6. 2 hundreds

7. 12 hundreds

8. 4 hundred

9.

22 hundreds

10. 58 hundreds

11. 8764 -4678 =4 086
12. 9420-0249= 9171
13. 5431-1345=4086
14. 7766 -6677 = 1089
15. 9900 - 0099 = 9 801




